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Questions

When the charged particle is projected at right angles to the field, then
experienced by it will be:

The current is measured in

The CRO deflects the beam of electrons, when they passes through uniform

Charge to mass ratio (e/m) of an electron is given by the relation

In the formula B= ynl, the symbol n denotes:

A resistance used in voltmeter is called

The direction of lines of force depends upon the direction of

F=ILxB)isa

When charged particle is projected perpendicular to a uniform magnetic field its
trajectory is

Gauss(G) is smaller unit of magnetic induction which is related to tesla(T) as

Magnetic flux and flux density are related by

Answers Choice

A. Maximum

B. Zero

C.qvB

D. Both (A) and (B)
E. Both (A) and (C)

. volts
. watt
. ampere
.ohm

A

B.

C

D

A. electric field

B. gravitational field
C. magnetic flax

D. magnetic field

A
B.
C
D

. e/m = 2V/Br<sup>2</sup>
. e/m = 2V/B<sup>2</sup>r
. e/m = 2V/B<sup>2</sup>r<sup>2</sup>
. e/m = V/2B<sup>2</sup>r<sup>2</sup>

>

. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Total number
of turns of solenoid<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size: 12pt; line-
height: 107%; font-family: &quot;Times New
Roman&quot;, serif;">Number of turns per unit
length<b><o:p></0:p></b></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Number of
turns per unit volume<o:p></0:p></span></p>
D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Numbers of
turns per unit area<o:p></o0:p></span></p>

E. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Number of
moles<o:p></0:p></span></p>

. shunt resistance
. high resistance
. low resistance

. zero resistance

voltage
current
charges

none of these

vector

scalar

unit vector
none of these

circular
elliptical
cycloid
straight line

Jow> DOW>r TUOWP UOWP

IT = 10<sup>-4 </sup>G
IT = 10<sup>5</sup>G
IT = 10<sup>3</sup>G
IT = 10<sup>4</sup>G

. Flux density = flux x area
. Flux density = flux/ area
. Flux density = flux - area

owE Dom»
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The Sl unit of magnetic flux is.

if the field is directed along the normal to the area, then flux is:

A magnetic force on an electron travelling with 108ms'1parallel to a field of
strength 1 Wb m2is

Current is measured in

The sources of magnetic field are

A galvanometer in which the coil comes to rest quickly after the current passed
through it, or the current stopped form flowing through it, is called

The force acting as one meter length of the conductor placed at right angle to the
magnetic field, when one A current is passing through it, defines the

If the value of galvanometer constant k = C/BAN is made small, the galvanometer
can be made

When some compass needles are placed on a card board along a circle with the
center at the wire, they will

If the number of turns of a solenoid (carrying a steady current I) is doubled without
changing the length of a solenoid, then magnetic field:

D. None ot these

B. Nm<sup>-1</sup>A<sup>-1</sup>
C. tesla
D. gauss

A. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Maximum<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Equal to
zero<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Equal to
BA<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Minimum<o:p>
</o:p></span></p>

. 10<sup>5 </sup>m
10<sup>-10</sup>N
. 10<sup>8</sup>N

volts
watt
ohm

ow» TOow

. isolated magnetic poles
. charges at rest

w >

O

. none of these

. stable galvanometer
. shunt galvanometer
. sensitive galvanomter

. magnetic flux

. magnetic field
. self inductance

O0Oow>» OOW

B. Accurate
C. Stable
D. None of these

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Set
themselves tangential to the circle<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Point in the
direction of E-W<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

E. Point in direction of S-E

A. Becomes Half

C. Is not affected

N Raramac Ana fanirth
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The most suitable material for permanent magnet is

Lorentz force is defined as

The Sl unit of magnetic induction is

If current through conductor is 1 A and length of conductor is 1m placed at right
angle to the magnetic field, then the strength of magnetic field is

For measuring large currents, an ordinary galvanometer cannot be used without
proper, then both relates with each other as

A field is uniform and much stronger:

The total number of lines of magnetic induction pasing through a surface
perpendicular to the magnetic field is called

In the expression of force experienced by electron, the direction of both v and B
are

At a given instant, a photon moves in +x direction in a region where there
magnetic field in -z direction. The magnetic force on the proton will be the:

In a straight current carrying conductor, the direction of magnetic field can be
found by

The unit of magnetic fluxis

Magnetic flux passing through a element whose vector area makes an angle(0°®
with lines of magnetic force is:

UGULUIIGD UIHIG 1VUl Ul

. None of these

me¢

. cobalt
.iron

OO w>

. alaminium

.q(ExB+V)
.q(ExV +B)
q(ExB)
Gauses

Weber
. Weber<sup>2</sup>

B<sup>2</sup>

> TOUP UOW

.F
F

o

F=B/2

. voltage
. current
. resistance

OOw

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Outside a long
solenoid<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">At the end of a
long solenoid<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">At the central
point of long solenoid<o:p></o0:p></span></p>
E. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of
these<o:p></0:p></span></p>

. magnetic flux density
. magnetic induction
. magnetic field intensity

. parallel
zero

. none of them
. -y direction
. +z direction

. -z direction
None of these

Mmoow>» UOWm» U0

. left hand rule
. head to tall rule
. none of these

Weber-m<sup>2</sup>
Weber-m<sup>3</sup>
C. Henry

w>» COOW

A. BA<span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">Cos©</span><p class="MsoNormal"
style="text-align:justify"><span style="font-
size:12.0pt; line-height: 107 %;font-

family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

B. Zero
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A long wire wound tightly on a cylindrical core is called:

To convert galvanometer into ammeter we connect

A voltmeter is used to measure the

A current carrying conductor sets up its own:

The gavanometer constant of a moving coil galvanometer is given by

It is customary represent a current flowing towards the reader by a symbol

'K" is the proportionality constant of force experienced by conductor. What is the
value of 'K' in Sl units?

Weber is a unit of

Resistance is measured in

The current sensitivity of the galvanometer is

Total number of turns on 0.15 m length solenoid is 300. the value of n is:

D. BA sin<span style="font-size:12.0pt;line-
height: 107 %; font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;;mso-fareast-
font-family:Calibri; mso-fareast-theme-
font:minor-latin;mso-ansi-language:EN-US;mso-
fareast-language: EN-US;mso-bidi-language:AR-
SA">O</span>

E. None of these

A. Potentiometer

C. Toroid

D. Wheat and stone bridge

E. None of these

A. small resistance in parallel with galvanometer
C. high resistance in series with galvanometer
D. high resistance in parallel with galvanometer
B. current

C. temperature
D. resistance

A. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric
field<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Nuclear
field<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Magnetic
field<o:p></0:p></span></p>

E. All of these

A. K=BAN/C
B. K=BN/CA
C. K=NAC/B

D. (-)

E. (<span style="font-family: &quot; Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">+)</span><p class="MsoNormal"
style="text-align:justify"><span style="font-
size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

A0

C.0.5
D. -1

. magnetic filed intensity
. magnetic induction
. magnetic flux density

volts
ampere

DOm> UOW

watt

BAN/C
CANB
. CBNA

oW

. Smalller than 300
. Equal to 300

Aavs ~£ /AN A DN

IO
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56

A shunt resistance parallel to the galvanometer is used to convert it into

The Sl unit of magnetic induction is tesla which is equal to

The vector representation of force experience give the direction of

A charged particle moving at right angle to the magnetic field will experience

A solenoid is a coil of wire which is:

41 The force experience, when proton projected in a magnetic field with velocity 'v'

IS

Ammeter is used to measure

The force experienced by an electron projected in a magnetic field B with a
velocity V is given by

The straight current carrying conductor experiences maximum force in a uniform
magnetic field when it is placed

The Sl unit of flux density is

When an electron enters in a magnetic field right angle to its motion, the
magnitude of its velocity will be

If volume of wire is 'AL' and there are 'n' numbers of charge carriers per unit
volume, then the total number of charge carriers are

L. ANy 01 (A) 0T (D)

E. Any of (A) or(C)
A. avometer

C. voltmeter
D. none of these

B. Newton/ampere<sup>2</sup>-meter or
N/A<sup>2</sup>-m

C. Newton/ampere<sup>2</sup>-
meter<sup>2</sup> or N/A<sup>2</sup>-
m<sup>2</sup>

D. Newton/ampere<sup>2</sup>-
meter<sup>2</sup>or N/A<sup>2</sup>-
m<sup>2</sup>

A. magnetic field
B. current
C. length of conductor

A. minimum force

C. zero
D. moderate force

A. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Short, loosely
wound, cylindrical<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Long, tightly
wound, spherical<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Long, loosely
wound, cylindrical<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

.-C(V xB)
. te<sup>2</sup>(v x B)
. -e(v<sup>2</sup>x B)

. voltage
. resistance
. voltage and current

Ow» UOOW

F=e(V x B)

F=¢e(BxV)
.Bothaandc

. parallel to the field

. At an angle of 45 to the field
. None of the above

Dow» UOw»

. Newton-m/Ampere
Newton-m/Amp<sup>2</sup>
. Newton-Amp/meter

. changed
zero

. none of these

n/AL
. Al/ln

UOw» UOwWP U0Ow

. nA/L
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When a suitable small resistance is put in parallel with the galvanometer coil, it is
converted into

Magnetic induction is also called as:

Galvanometer is a device used for the detection of

A relationship between Gauses of magnetic induction and Tesla(T) is given by

Which one of the following relations is correct?

The torque per unit twist of coil is called

The strength of magnetic field around the current conductor is

NmA-Tis commonly called:

The working of galvanometer depends upon torque exerted on a current carrying
coil in

The angle of deflection of coil can be measured by the

The force exerted on a conductor of length L, carrying current | when placed in a
magnetic field B is given by

The galvanometer can be made sensitive if the value of the factor C/BAN is

The e/m of an electron moving in a circular path in a magnetic field is equal to

A. Voltmeter
B. Avometer

D. None of these

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Faraday’s
law<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Lenz's
law<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Newton’s
law<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Coulomb’s
law<o:p></0:p></span></p>

A. voltage

C. temperature
D. pressure

A. G 10<sup>-3</sup>T
B. G = 10<sup>-2</sup>T

D. G = 10<sup>-1</sup>T

A. 1 Wb-m<sup>2</sup>= Nm<sup>-
1</sup>A<sup>-1</sup>

B. 1 tesla = 104 gausses

D. All of the above

A. proportionality constant
B. gravitational constant
C. boltzman constant

A. Smaller near the conductor

C. Greater at the large distance from the
conductor
D. Constant near and away from the conductor

B. Apmere

C. Guass

D. Coulomb

E. None of these

. electric field
. gravitational field
. nuclear field

. one method
. three method

w > ooOow

. none of these

F=IB/L
F=LxB/I

F=IL.B
. constant

. large
. hone of these

Uow» UOwP» O

B. V/IB<sup>2</sup>r<sup>2</sup>
C. V<sup>2</sup>/Br<sup>2</sup>
D. V<sup>2</sup>/Br
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In a moving coil galvanometer, the deflecting couple depends upon

A galvanometer is an instrument used to

The Sl unit of magnetic permeability is

A current carrying conductor is placed at right angle to the magnetic field. The
magnetic force experienced by the conductor is

The CRO is used for displaying the waveform of a given

Hold the solenoid in the right hand with fingers curling in the direction of current. The
direction of the field will be given by:

Tesla is the unit of

Magnetic lines of force:

CRO deflects the beam of

A. area of the coil

. value of magnetic field
. all of the above

. measure voltage across a circuit
. detect current in a circuit

oow>» OO

. none of these

WB mA<sup>-1</sup>
WB Am<sup>-1</sup>
. None of these

minimum

zero
. none of these

. current
. voltage

UOw» U0OwWwP U0Ow

. none of them

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Curled
fingers<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Middle
finger<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Arm of right
hand<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

B. Magnetic flux
C. Self inductance
D. None of these

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Intersect at
infinity<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Intersect within
magnet<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Intersect at
Neutral Point<o:p></o0:p></span></p>

E. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 16px; text-align:
justify;">None of these</span>

A. proton
B. a-particle

D. neutron
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magnetic field is a:

The magnetic force exerted on an electron moving with velocity 'v' at right angle to

the magnetic field is given by

Which is modified form of galvanometer

The magnetic field outside the solenoid due to current is

How many number of anodes used in electron gun

A full-scale deflection is obtained in a galvanometer with a current of few

The unit of flux density is also given by

The pointer of a magnetic compass:

A beam of electrons is provided by an

Method "lamp and scale arrangement" used to measure the

The field around a moving charge is called

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Scalar
quantity<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Scalar as well
as scalar quantity<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Any of (A) or
(B)<o:p></o:p></span></p>

E. Neither (A) nor (B)

. F=e<sup>2</sup>V/B
. F=e/VB
. F=B<sup>2</sup>/ev

B

C

D

A. potentiometer
B. battery

D

. slide wire bridge
strong
zero

. uniform

one
two

w> TOwWP

Six

ampere
volts

Dowm> ©

ohm

B. Weber/mor Wb . m
C. Weber/mor Wb . m<sup>-1</sup>
D. Weber or Wb

A. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Is affected only
by permanent magnets<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Vibrates in the
magnetic field of the current<o:p></o:p></span>
</p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Aligns itself
perpendicular to the magnetic field<o:p></o:p>
</span></p>

E. Both (C) and (D)

B. Suppray
C. Injection
D. None of these

. restoring torque
. magnetic field strength
. current

o0Ow

. conservative field
. non-conservative field
. none of these

ooOow
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A meter wire carraying a current of 2A is at right angle to the uniform magnetic

field of 0.5 Weber/m2The force on the wire is

The force acting on a charge moving in a magnetic field

(CRO) Cathode ray oscilloscope is a device used for high speed

Amperean path is a:

Avo-meter is used of measure the

the current is pass through the straight wire. The magnetic field established around it

has its lines of force:

The force experienced by charged particle is maximum, if it moves

A resistance used in galvanometer to make it voltmeter is called

N

B.
C.1.5N
D.

oD

5
N
A. is perpendicular to the both magnetic field
and direction of motion

B. is proportional to the magnetic of charges

C. vanishes when the motion is directly opposite
to the direction of field

A. velocity

C. time-velocity
D. none of these

A. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Closed
path<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Rectangular
path<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Circular
path<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Broken
path<o:p></0:p></span></p>

A. current, voltage
B. voltage, resistance
C. resistance, current

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Oval in shape
and endless<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Straight<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Parabolic<o:p>
</o:p></span></p>

E. All are true

A. parallel to magnetic field

C. opposite to the magnetic field
D. none of these

B. high resistance
C. zero resistance
D. none of these

A. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">A magnetic field is setup</span><p
class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-

height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>
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In the region surrounding a current carrying wire:

Centripetal force for electron is given by

The Sl unit of magnetic flux is

When the waveform of one voltage is increasing and that of second is decreasing
and vice versa, then phase difference between these voltage is

The working of all DC electric meters (galvanometers, ammetersand voltmeters)
depends upon

The force experienced by a single charge carrier moving with velocity 'v' i
magnetic field of strength 'B' is given by

In order to make a voltmeter, high resistance is connected with galvanometer, in

The voltage increases linearly with

The Sl unit of flux density is.

For the conversion of galvanometer into voltmeter, we connect a

The current in microamperes required to produce one millimeter deflection on a

scale placed one meter away from the mirror of the galvanometer, defined the
sensitivity of

The permeability of free space is measured in:

When current passes through a solenoid coll, it behaves like a

B. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">The lines of
force are elliptical<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Direction of
lines of forces depends upon direction of
current<o:p></o:p></span></p>

E. All of these

B. mv / r<sup>2</sup>
C. mv<sup>2</sup>/r
D. mr<sup>2</sup>/v

A. NmA<sup>-2</sup>

C. NAm<sup>-1</sup>
D. Nm<sup>2</sup>A<sup>-1</sup>

A. 90<span style="color: rgh(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>

B. 75<span style="color: rgh(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>

C. O<span style="color: rgb(84, 84, 84); font-
family: arial, sans-serif; font-size:
small;">°</span>

. Heating effect of current
. Chemical effect of current

W >

. Electromagnetic effect of current

. F =q(v/B)
F=g<sup>2</sup>(v x B)

F=vxB

. perpendicular
may be paralled or pendicular

UOw» TUOwWP» O

. none of these

. velocity
. acceleration
. torque

oo0ow

Weber
Gaun
. Weber/meter

. small resistance in series with galvanometer
. small resistance in parallel with galvanometer
. high resistance in parallel with galvanometer

ow» COw

. ammeter
. voltmeter

w >

O

. avo-meter

Wb A/m
Am/Wb
m/Web A

. None of these

moow

loop
circle

@ >

O

. none of these

B. Minimum
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IVMlagnetic flux passing through the an element of are A placed perpendicular to a
uniform magnetic field Bis:

Electron gun consist of

Strength of magnetic field is measured in Sl units, in:

The magnetic field in the middle of a solenoid due to current is

Flurescent screen is a screen where visible spot

The magnetic field inside a solenoid can be increased by:

moo

moow>» Do

Zero
. Very small

. None of these

. three anodes
. heating cathode

. three anodes , heating cathode, grid
N

Am/N
Nm/A

. None of these

weak

. none-uniform
zero

. vanishes

becomes small and large
. none of these

. Increasing n
. Decreasing |

. Increasing |
. By using iron core within solenoid



